7. If 6, and 6, are two solutions of the equation
HINTS . -
aCos20 + bSin26 = ¢ then Tané, +Tan0, =
5 5 2b 2a
3. Cos0=Cosa=>0=nrta N %eia b+c
5. Cos260=1-2Sin6 3 2a 4 abc
15. usetransformation ) b+c ) a+b+c
19.  Factorisation 8.  The solution set of Tan(4k+2)x - Tan(4k+1)x -
27.  Multiply and divide by /42 + 5> Tan(4k+2)xTan(4k+1)x =1 ke 7 is
T
COS X +sin x R 1) ¢ 2) 4
67. ————————= (Cosx +sin x)
COSXx —SInx
3) {nn+%:neZ} 4) {2n;r+%:neZ}
LEVEL-II ,
9. The equation
3Sin2x+20032x +31—sin2x+28in2x =28 L.
1. Given that TanA, TanB are the roots of the the values of X qi is satisfied for
. ) . -, . given by
equation x*>-bx+c = 0, the value of Sin*(A+B) is 1) Cosx = 0 2) Sinx = -1
b b2 3) Tanx = 1 4) Sinx = 1/2
1) 2 2) 3 2
(b+0) b* +c 10.  If Tang+ SecO = /3 then 9=
b® L 1)2n;r+£ 2) 2nz+ 2~
3) 2 l1-p?) 4) b*+(1-c) 6 3
2. If « and g are two different solutions lying 3) onr+Z onp+ % 4) onz+Z
3’ 6 4
between N and % of the equation 1.  If Cosm6 = Sinko , then 9=
2Tand + Secd =2 then Tana +Tang is n7z+£ nr+™
1)0 2)1 3)4/3 4) 8/3 1) 2 2) 3
3. If ¢ and B satisfying the equation m+k m=k
Sina + Sinp = 3(Cosa - Cosp)., then onr+ ™ nr+®
, . . . 2 4
1) Sin3a + Sin3 3 =1 2) Sin3a +Sin35 =0 “m+k 4) m+k
3) Sin3a—Sin3 =0 4) Sin3a—Sin3 =1 12.  The equation (Cosp - 1) x2+ (Cosp) x + Sinp = 0,
4. The equation aSinx + Cos2x = 2a-7 possess a where x is a variable has real roots. then the
solution only if interval of p may be any one of the followings
1) a>6 2) 2<a<6 3)a>2 4) 0<a<2 1) (027) 2) (-7,0)
5. The values if x in (-z,7) which satisfy the
V/
equation 81+\Cosx\+‘Coszx‘+‘Cosax‘+ ........ a_ 43 are 3) (_Ean 4) (0,71-)
z 2 T —2r1 13. Ifthe complex numbers Sinx + i Cos2x and Cosx
1) 5% 2) oo - i Sin2x are conjugate to each other, then x =
3 3 3 3
VA
S T 1) nx 2 n1)3
3)0 4) Not possible
6. The general solution of Sjn1%0y _ Cos™x = 1
P g 14. If o,p,y,0 are the four solutions of the equation
1)2n7r+§,ne/ 2) n7z+z,ne/
VA
. ju Tan (94‘2) =3Tan 3 ¢ . No. two of which have
3ynz+—,nel 4) 2nr——,nel
2 3 equal tangents, then the value of
Tana +Tanf +Tany +Tans =
1)1 2)0 3)-1 4)4
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] _ — 1 = 1
15, I 5in26 —cos3¢ =0 and ¢ is acute then ¢ 25. Most general solution of 2sin+ 2cosx= 2“@ is
1) 36° 2)540 3)18° 4)None
V4 V4
16. The number of roots of the equation 1) nzr—— 2) nw+—
3. .2 . ; 4 4
x> +x? +2x+sinx =0 in (-27,27)
0 7T V4
1)4 2)3 3)2 4)1 3) nz+(-1) " 4) 7w+
17. If Sinx + Cosx = 2Cosa = X =--- 26. If 14 Sin20 = 3Sin6Cose then the solution set in
T T
1) 2nz - ta 2) Nnr—-—+a 0Z| .
4 4 ( 2] 18
VA VA
2 4+ - V4 a1 T a1
3) nz+ ta 4) nz i 1){—,C0S1—} 2) {—,Tanl—}
18. The general solution of 4 3 4 2
Cosx.Cos2x.Cos4x.Cos8x=0 {7[ _— 1} ju G 1
nz nrz nz nz 3)V5 5y 4) V> .
— — — — 3 3 6 3
R 12 2) 15 3) 16 4) 3
19. The solution of Secds - Sec20 =2 is 27.  The solution of Cos2a = (2 + 1){0080! —%} is
VA V4 T
1) nz+= 2) 2n+1)=,2n+1)—
2 2 10 T T T,
1) = 2) -+
( )” ( )” 3 4 4 6
3) 2n+1)— 4) 2n+1)—
20. If32Tan®0 = 2Cos?a —3Cosa and 3Cos20 =1 4 2 45
then the general value of ‘¢’ is 28. Let Cos(a - )= -1 then only one of the following
T o statements is always true which one is it?
DRCE 2) 2Nzt 1) a is not less than B
) ju 2) Angles « and B are both positive
MNonr+=
3) nztx yenz 2 3) Sina + Sing =0 = Cosa + Cosp
21. If Sinx, Sin2x, Sin3x are in A.P then x =--- 4) Sina+Sinf =0 but Cosa +Cos may not be
29. |If (2+\/§)Cosx =1-Sinx then x =
3) n, "% PN
' 6 3'6 7
2nw+—, 2nwr—— t—nrt—
22. If Sinx + Cosx = 1 + Sinx.Cosx then x = --- 1) nx il 2) = n 3
T n7
1) N+ 2) nz+(-1)"= et pp e o’
3 6 3)”2,7T3 4)#2,713
3) nz+(- 1)n£ 4) nx 30.  Number of solutions of thle equaﬁon |
2 Tan x + Sec x = 2 Cos x in the interval [0,27] is
1 1)0 2)1 3)2 4)3
. . 0 . 0 _
23. IfSin x.Sm(60 +x).Sm(60 —x) -3 31. Ina AABC, the angle A is greater than angle B.
then x = If the values of angles A and B satisfy the equation
. nr . 3Sinx-4Sin®x-k=0,0<k <1, then the
1) nz+(-1)"= 2) —+ (1= _
6 3 18 measure of angle C
T 2 5z
P L ® z z 2z 5z
3) n7+ (=13 4) 5+ 03 2) 33 4%
Sinx +iCosx || 32. If Aand B are acute positive angles satisfying the
24.  Thevalue of x € (- 27,27) such that 1 equations 3 Sin?A + 2 Sin?B =1 and 3 Sin2A - 2
is purely imaginary are given by Sin2B = 0 then A+2B =
VA T VA
1)n7r—% 2) n7z+% 3) nz 4) n7r+% 10 2) 5 3) 4 4) 3
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5 7 8. Put =0
33, If 2 <6<~ and 5Co0s26 —2Sing -2 =0 then
4 4 0. 3sin2x+2cos2x — y
o
the value of Tan_ = 27
2 y+—=28
1)-1 2)1 O . g
)- ) ) 2 ) 2 28.  Cosla—p)=-1
34, |f 5Cos2€+20032[§j+1=0,0<€<7rtheng: a-f=nx
15°
i 3 29. Using 2++/3 =cotl5’ = <22
1) 1 2) —, Cos1(_j sinl5
3 3 5
(3 po (3 LEVEL-III
Cos™ | = Z z-Cos =
3) (5) D37 (SJ
35. The number of solutions of the equation Vs ,
1. IfO<x,vy <E then the system of equations
T
3(Sinx+Cosx)-2(Sin*x+Cos3x) = 8 in {0’5} is Sinx.Siny = 3/4 and Tanx.Tany = 3 has
1)0 2)1 3)2 4)3 == -~ x=Z -~
. 1) 5 y 6 2) 3’ y 3
36. If 3 sinx+ 4 cosx=5 then the value of Tan— is
2 V4 V3 /4 V3
3)X=E,y=ﬁ 4)X=z,yzz
1) 1+ \E 2) ﬂ 2. The general solution of Sinx - 3Sin2x + Sin3x =
4 4 Cosx - 3Cos2x + Cos3x is
~1+42 z Tz
N —5 4)1/3 DA 272 "8
37. If- 7<x<z,~7<y<7m and cos x+ cosy =2 3) (-1 222 4) 2nx +Cos 13
then cos (x-y) = 2 8 2
1)-1 2)0 3)1 4)2 3. If « is aroot of
KEY 25C0520+5C059—12:0,% <a<n
then Sin2¢ is equal to
1.4 2.4 3.2 4.2 5.4
1) 24/25 2)-24/25 3)13/18 4)-13/18
6.3 7.1 8.1 9.1 10. 1 ) ) ) S')6
11.3 12.4 13.4 14.2 15.3 : _ olnox
16. 4 173 18 3 19. 2 20 2 4, The equation 8Cosx.Cos2x.Cos4x = Sinx has
21.1 22.3 23.2 24. 1 25.2 a solution of
26.2 27.1 28.3 29.1 30.3 1) sinx =0 2) Cos7x=0
31.3 32.2 33. 1 34.4 35. 1 3)sin7x=0 4)sin8x =0
36.4 37.3 5. If 4ng =7 then the value of
HINTS Tana.Tan2a.Tan3a.———Tan(2n—1)a
is
. _ 1)0 2)1 3)-1 4)2
1 tand+tanB=b, tand.tan B =c 6. If Sin2x.Cos2x.Cos4x = 7 has a solution then
2. 2tan6+ I1+ tan2 6 — 2 and Squaring v lies in the interval
sina +sin 8 1)[—11} 2){—11} 3){—11} 4)[-11]
3. ——— =3 and using transformations. 22 44 33 BN
cosa —cos
7. In aright angled triangle, the hypotenuse is 2./2
6. sin'” x =1+cos' x times the lenght of the perpendicular drawn from
since L.H.S. never exceeds 1 the opposite vertex on the hypotenuse. Then the
- cosx=0 other two angles are
T T T 3 7 5w
= x=nr+? U3e 277 Yss Yumn
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8. If Sin®x + SinxCosx + Cos®x = 1 then x = ---
KEY
1) nz,nx i% 2) 2nrz2nm +%
1) 2 2)2 3)2 4)2 5)2
z P 6)2 7)3 8)2 9)2 10) 2
+ —_
3) nm2nm £ 4) 2nz 27 £ M3 12)1  13)2 144 15)2
9. The number of solutions of the equation Sjnx = x 16)2 17)2 18)3
13 2)1 3)0 4)2
10. The number of solutions of the equation HINTS
COSX | o7 i _ i - 5 + 35
2% J|sinx| in [-27,27] in s cosa=
1 2)4 3)3 4)2 50
11.  Tanx + Tan2x + Tan3x = 0 then x =
Vs
P p P 5. dna =7 = 2na = —
1) nx +§ 2) nx +z 3) nz or nx i§ 4)onr 2
12.  The equation 4Sin>x + 4Sinx +a2-3=0has a || 7. From AABC, AD=p BC= 2\/§p
solution if . R 5 R
1) -2<a<2 2) ~1<a<1 Sincea” +b° =8p &
3) -3<a<3 4) _4<a<4 I | 2
13. The set of values of x for which sin @ + cos’ 0 =8p b
SinxCos®x > CosxSin®x,0< x < r is D
= 2sin’ 26 =1 p
T T T
von 2(0f) 9[fe) o[0)
) 07)  2)(0g )\ 7 ) 195 g T R i 5
14. The least positive root of the equation 4
cos 3x+sindx=0 is 13, sinxcosx(cos2 x —sin’ x) >0
T T RY/4 RY/4 1
DTS 2 Te N7 Mg —sin 2xcos 2x > 0
15. If 1/6 sinx, cosx, tan x are in G.P. then x = .
sin4dx >0
Vs Vs
1)n7zi§,nez 2) 2n7zi?,nez
New Pattern Questions:
n 7T T
3) nrt(-1) 3oEZ 4) ””iganez 1. 1) Principal value of cos g=-1is 7
16.  The number of points of intersection of 2y=1 and 1) Principal value of sin §=0is 7
_ T 7 Which of the above statement is correct?
y = cos X in Sx<—_is
2 2 1) Only | 2) Only II
1) 1 2)2 3)3 4)4 .
17.  The number of integral value of k for which the 3)Both land |l 4) Neither for I
equation 7 cosx+ 5 sinx=2k +1 has a solution is
1)4 2)8 3)10 4) 12 2. I) The set of values of x for which
18. The number of distinct real roots of
) tan 3x —tan 2x — 1 nrt nel
sinx COSX COSx 1+ tan3x an 2x is 4’
COSX sSinx cosx . .
~ /=0 in the interval Il) The expression (1+tanx+ tan2x)
coSx cosx  smx (1-cot x+ cot?x) is positive for all x eR.
_ES r< z < ) gsinx _ pmsinx . 4 for any real values of x.
4 4 Which of the following is correct?
10 2)2 3)1 4)3 1y only I, Ii 2) only 11, 11
3)only 1, Il 4) LI
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P 6. For 0 < x <27, match the equations in List-1 to
1) If cot 300527“ :\/g, then the general no.of solutions in List-II
List-I List-ll
1 . . .
solution of the equation is X =7 ig’ nel (Trigonometric (no. of solutions)
equation)
I Iftan P @ =tan Q @, then the values of @ 1) tan2x+cot2x=2 a)2
T I1) sin?x- cos x= 1/4 b)0
from an A.P with common difference &5 ~ . i
P-Q 1) 4sin2x+ 6cos2x=10  ¢)1
Which of the above statements are correct? IV) sinx=1 d)4
1) only | 2)only ll 1)d,a,b,c 2)d,a,c,b
3) Both land I 4) neither l or Il 3)d,b,a,c 4)d,c,a,b
) If x lies in the 1st Quadrant and 7. Match the equations in List-I to general solutions
cos x+ cos 3x=cos 2x then x = 30° or 45° in List-ll
I1) x ¢ (0, 2 ) and cosec x + 2=0 then List-I List-ll
_ Iz 1z ) tan? g =1 a)nrtm/6
6 6
1) cos? 0=1/4 b) nrtr/4
) x e [0,27]and (2 cos x-1) (3+2 cos x) =0
) sin2 @=1/4 C) ner+x/3
T 5w
then x = 3’3 IV) cosec g =1 d) nrt+x/2
Which of the above statements are correct? e)nr+x/8
T)only I, Il 2)only Il Il 1) b,d,a.c 2) c,a.eb
3)only I, I 4) LILI
) only ) 3)b,c.a,d 4)d,ab,c
Match the trigonometric equations from List-I to ) ) ) )
solutions in List-II 8. Match the.trlg'onometnc equations from List-I to
solutions in List-II
Listl Listl List-1 List-ll
I) Cosx =-1/2 a)x=7 /3
A) 3(1+sinx)= Nx=7
1
Il) Sinx = — b)x=— 1+cos2x
2 6
B)sin® x +2cos’ x =2 2) x =sin” (1/3)
- — _ 2z C) sin x =1/3 3) x =sin™ (-1)
) Tanx = =
) Tanx \/g C) X 3
V4
IV) Cot x =1 d)x=3r/4 4)x=§
e)x=5rx/4 ABC AB C
1)b,d,c,a 2)c,a,b,e 1)1 2 3 2)2 1 4
3) b,c,e,a 4) b,e,e,a 3) 312 4) 4 1 2
JR-MATHEMATICS 164 TRIGONOMETRIC EQUATIONS




9. Ascending order of ngmber of§olutions inthegiven || 14 |5 a, B are the different values of ¢ satisfying
interval of the following equations.
) ) the equation 3 cos @+ 4 sin @ =9/2 then
A) sin x=-11in (0,4 1)
B) cos x=-1/2in (0,4 r o o
) ( ) A) tan(—+£j B) tan—tanﬁ
C)tanx=-1in (0,6 7) 2 2 22
D)tanx=11in (0, 7 /2) C) sin (a+ﬁ)
1)D,A,C,B 2)D,AB,C
1)A>B>C 2) C>B>A
3)A,B,D,C 4)A,B,C,D
3)A>C>B 4) B<A<C
10. If p,, p,, p, are the principal values of following
trigonometric equations 15. If g ,6, are two solutions of the equation
l)sing=-1/2 3c0826 +5sin26 =7 then
NG} A) tang, +tand, B) tand, tané,
1) cosf = ——
2 C) tan(@, +0,)
) tan@ =~/3 =2 1)A> B> C 2)A> C>B
3)C>A>B 4)B<C<A
1 <p,< 2 < p, <
) Pr <Py <P ) Pr<Ps< P 16. Observe the following statements
3) p,<p <P, 4) p,<p,<p Assertion (A): The general solution of sin
1. In [0,27r], S|, S,, S, are the no. of solutions for X =-1is nﬂ+(_1)”3_7[
the following trigonometric equations. 2
A) sin @=1B) sin 9=-1/2 C) sin #=2 , Then Reason (R): The principal value of sin x = K lies
T T
1) 8, >5,>8,; 2) §;,<§,<8S, in | =5y
3)S, <§; <8, 4) §, <S8, <SS, 1) Both Aand R are true and R is correct
12.  Arrange the following equations in decreasing explanation of A
order of their number of solutions in [0,27[] 2) Both Aand R are true and R is not the correct
explanation of A
| 22 2
) 3sin” @ +4cos” 0 =5 3)Als true but R is false
1) 4sin?0+3cos*=7/2 4) Ais false but R is true
. 5 17. Assertion (A): 3 sinx+ 4 cos x =7 has no solution
) 3sin”* @ +4cos” 0 =4 , _
Reason (R): a cos x+ b sinx = ¢ has no solution
1) 1L 2)1, 10,1 \/ﬁ
if |c| >
3y 4 I 1L e a”+b
13. Arrange the following in ascending order of their 1) Both Aand R are true and R is correct
number of solutions in [0,57] explanation of A
2) Both Aand R are true and R is not the correct
A) cos @-1 B) sin g=1/2 .
explanation of A
C)tan?g=1 3) Ais true but R is false
1)BCA 2)CBA 3)ABC 4)CAB 4) Ais false but R is true
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V4 .
18.  Assertion (A): In [O,Z} COSX 28INX gnd EAMCET -1987
5. Solution of 7Sin2x + 3Cos*x = 4 is
T . T T T V4
in (—,7],cosx <sinx += += nr+— nmrt—
in (5-7] 1) nTa 2) prEl B)nrio 4)nTi
Reason (R): If cos x = 4/1—sin 2x,0 < x < x then EAMCET -1989
x =1ortan” 3. 6.  The values of x satisfying Sin2x + Sindx = 2Sin3x
1) Both Aand R are true and R is correct are
explanation of A nr x
2) Both A and R are true and R is not the correct e 2) 2nx 3) nz 4) nm+
explanation of A EAMCET -1990
3) Alis true but R is false 7. The value of ¢ satisfying Sin7¢ = Sin46 — Sin®
4) A is false but R is true
in 0<@ <z are
KEY in 2
1)1 2)2 3)3 4)2 5)2 o o o o
6) 1 7)3 8)2 9)2 10) 2 1)6,2 2) 379 S)Eyz 4)5,2
11)2 12)1 13)3 14)3 15) 3
16)4 11 18)3 EAMCET -1994
8. The value of @ satisfying Cosec9+2=0 in
PREVIOUS QUESTIONS FROM (02”) are
EAMCET -1981 3) 210°, 240° 4) 2109, 330°
1. If Tan56 = Cot36 , then general value of ¢ EAMCET -1996
n 9. The number of solutions of the equation
iz = hr = . .
RACIAET: 24 "3 2Sin20 +3Sin6+1=0 in (0.27) is
1)1 2)2 3)3 4)4
3) %+% 4) %+% 10. The general value of x for the equation
9Cosx _2.3003x +1=0 is
EAMCET -1983 n
1) nz 2) 7”
. ( nCot6 zTand
2. I Sinj == |=Cos| = — | then ¢ = -
3) 2nx 4) (2”+1)§
1 Z 2) 2 3) = 4)N
— = = one
4 3 6 1. If 1+Sinx+Sirx+....... a:4+2J5,0<x<%,
EAMCET -1986
3. If a,p are different values of x satisfying xzZ then x =
2
a+f
aCosx + bSinx = ¢, Then Tan 5 )= WEZ 2£5l 32_7r£ 412_;r
)6’3 )3’6 )3’6 )3’3
1)a+b 2)a-b 3)a/b 4) b/a
4. The general solution of Sin? - 2Cosx + 1/4=0is || 12. If V3Cos6 +Sin6 =2 then 6 =
1) 2nz +2 2) nr+Z e+ 22 2) 2nz 24+ 2
2 2 4 6 4 6
2nr + = z z
3) «nz 3 4) None 3) nw+ 5 4) 2nz £ 5
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EAMCET -2001
13.  If \[3Cos# - Sing =1 then g = CET-20
22. The equation @Sinx+ cosx =4 has
T T T
1) 7 2) > 3) 3 4) s 1) Only one solution
EAMCET -1993 2)Tw9 §olut|ons |
3) Infinitely many solutions
14. If 3Tan(0-15°)=Tanl9+15°)0<0 <z then 4) No solution
0= EAMCET-2002
r r 3 T 3+2isin@
1) 2) 3) & 4) = —_—
2 4 6 3 23. If 1—2ising 'S@ real number and
EAMCET -1995
15.  The smallest value of ¢ satisfying the equation 0<@<27,then g =
. 1) 7w 2) 2 3) 7 /3 4) /6
to + T =4 1Is
¥3(Cott + Tans) EAMCET-2003
2z E 3) = 4 =
3 )3 )6 ) 12 ,
16. Ifais anyreal number, the number of roots of COS(A +B) —s1n(A +B) CO'SZB
Cotx - Tanx = a in the first quardrant is 24 If sin 4 cos 4 sin B =0
1)2 2)0 3)1 4) None of these —cos 4 sin 4 cosB
EAMCET -1997
e then B =
17. The value of g satisfying Sin50 = Sin36 — Sin®
V4
and 0<0<%are 1)(2n+1)5 2) nw
WA I g ZE N 3) 2n+)x 4 dnx
)6’3 )6’4 )4’3 )4’2 EAMCET-2003
EAMCET -1998 25. The solution set of (5+4cos @) (2 cos #+1)=0in
18. If \/%+Cosx — 0 then Sinx = the interval [0, 2 7] is
g Bt dEet Bt Bt 1){1,2_”} . {2_’%}
2 8 8 2 33 3
EAMCET -1999 27 A 27 5
19. The solution set of Tan29_3 =0 is 3) 373 4) 373
1) nz+(- 1)n% 2) 2n”i% EAMCET-2004
26. Forx cR,3 cos(4x—5)+4 lies in the interval
3y nzt” 4y 27+ (-1 Z NM.71 247 30,7  4)[27]
3 3 EAMCET-2004
EAMCET -2000 27. If the distance between the points
20. The smallest positive x satisfying (acos@ asin@), (acos¢ asin¢) is 2a then
109 cosx Sinx +logg;j,, Cosx =2 is p ’ ’
T T T T
1) > 2) 3 3) 7 4) 0 T
N 2nrtr+dnez 2) f’lﬂiz+¢,7’l€Z
21.  If Tan@+Secd =+/3 , then the principal value of
p ) nr—@p,nez 4) 2nr+p,nez
0+— is
6
T T 2r 3z
1) 7 2) 3 3) 3 4) e
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EAMCET-2005 KERALA CET -2001

(\/_ 1 1 32. If Sin(zCos@)=Cos(zsind), then which of the
= W2+1) cos x——=|,cos x # — ingi
28. Cos 2x X \/Ej 5 following is correct
3 V3 1
= Cosf =—— Cos(&——j:_
X E 1) 2\/5 2) 5 2\/5
V4 V4
1){2n7ri—,nez} 2) {Znﬁi—,nez} [ ﬂ] 1 ( ﬂj 1
3 6 Cos|0-=|=—— Cosl0+Z |=——
%) 4) 252 Y 4) 242

T T 33. Find the value of k for which
3){2nwrt_—,nez 4)y\2nrt—,nez ) _ o
2 4 (Cosx + Sinx)? + kSinx —1=0 is an identity

KARNATAKA CET -2002 1)-1 2)-2 3)0 4H1
29. The general solution of the equation || 3, 1t <oiutions for ¢ of Cospf +Cosqd =0,

Sinx + Cosx =1 is _ _
p>q>0 areinA.P then numerically smallest

1) X=2n7r+%,n:0,4_r1,4_rz common differenceof A.P is

Vs ) 2z 3 Vs 4 1
p+q D org  D2hpiq) pig
(IIT) ALLAHABAD -2001

V4 1)
2) x:nﬁ+((—1)" +1)Z,n:0,i1, +2

_ _ay ) o . pa ,
3) X‘””*(( 1) 1)4'” 0,+1 42 35. The solution set of S’”[Xsz]:S'”zX equals to

4) x=2nz,n=0,+1+2

WEST BENGAL JEE - 2002 nx —(Zj nz+ (Zj
1) ———~ 7 2y — Y/
30. Theinequation 3Sn*0 | 3Cos®0 5 5 [3 s true ) 1+(=1)"2 1+(=1)"2
1) for all real values of g
2) some real values of g nr +(Z] nr —(Z]
o 3)) — Y/ 4) )
3) forimaginary values 1-(-1)2 1-(-1)2
4) None
NDA - 2002 UPCET - 2001
31. If Sing = Sina , then 36. The equation 3Sjn2x +10Cosx — 6 = 0 is satisfied
) if
1) X2 is any odd multiple of = and 2% is 1 )
2 2 2 1) x=nz+Cos™"— 2) x=2nz+Cos™'—
any multiple of ~ 3 3
9 B 1 B 1
2) 2 s any even multiple of % and is 3) x=nz+Cos 5 4) x=2nz £ Cos 5
any multiple of =
0+a . . V4 -a KEY
3) 5 is any multiple of Py and 5 is any
. 1.1 2.1 3.4 4.3 5.4
odd multiple of 7 6.1 7.1 84 9.3 10.4
0ra _ x 0-a 1.4  12.2  13.4 14.2 15.3
4) is any multiple of o and is any 16. 3 17.1 18. 4 19.3 20.3
ltiole of 21.2 22.4 23.1 241 25.3
even multiple of 7 26.1 271 28.4 29.3 30. 1
31.1 32.3 33.2 34.2 35.4
36.2
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